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NEW QUESTION 1
An enterprise network has two core routers that connect to 200 distribution routers and uses full-mesh IBGP peering between these routers as its routing method.
The distribution routers are experiencing high CPU utilization due to the BGP process. Which design solution is the most cost effective?

A. Implement route reflectors on the two core routers

B. Increase the memory on the core routers

C. Implement e BGP between the core and distribution routers
D. Increase the memory on the distribution routers

E. Increase bandwidth between the core routers

Answer: A

NEW QUESTION 2
Which two mechanisms avoid suboptimal routing in a network with dynamic mutual redistribution between multiple OSPFv2 and EIGRP boundaries? (Choose
two.)

. AD manipulation

. matching OSPF external routes
. route tagging

. route tagging

. route filtering

. matching EIGRP process ID

mTmoOO >

Answer: DE
Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/enhanced-interior-gateway-routing-protocol-eigrp/8606-redist.ht

NEW QUESTION 3
Refer to the exhibit.

E

o o

Company XYZ must design a DMVPN tunnel between the three sites Chicago is going to act as the NHS and the company wants DMVPN to detect peer endpoint
failures Which technology should be used m the design?

A. VPLS
B. IP SLA
C. GRE
D. L2TPv3

Answer: B

NEW QUESTION 4

A legacy enterprise is using a Service Provider MPLS network to connect its head office and branches. Recently, they added a new branch to their network. Due to
physical security concerns, they want to extend their existing IP CCTV network of the head office to the new branch, without any routing changes in the network.
They are also under some time constraints. What is the best approach to extend the existing IP CCTV network to the new branch, without incurring any IP address
changes?

A. GRE

B. L2TPv3
C. VXLAN
D. EoMPLS

Answer: B
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NEW QUESTION 5
Which three elements help network designers to construct secure systems that protect information and resources (such as devices, communication, and data)
from unauthorized access, modification, inspection, or destruction? (Choose three.)

. confidential

. serviceability
. reliability

. availability

. integrity

. scalability

TmooO o>

Answer: ADE

NEW QUESTION 6
What is a disadvantage of the traditional three-tier architecture model when east west traffic between different pods must go through the distribution and core
layers?

A. low bandwidth
B. security

C. scalability

D. high latency

Answer: A

NEW QUESTION 7
Which architecture does not require an explicit multicast signaling protocol, such as PIM or P2MP, to signal the multicast state hop-by-hop, but instead uses a link
state protocol to advertise the multicast forwarding state?

A. Binary indexed explicit routing

B. Binary intermediate enhanced routing
C. Bit indexed explicit replication

D. Bi-directional implicit replication

Answer: C

NEW QUESTION 8
Which two points must network designers consider when designing a new network design or when evaluating an existing network design to help them understand
the high-level design direction with regards to the security aspects? (Choose two)

A. Consider Business objectives and goals

B. Consider organization’s security policy standards

C. Consider for only multi-site networks

D. Consider for only new network technologies and components

Answer: AB

NEW QUESTION 9

You were tasked to enhance the security of a network with these characteristics:

* A pool of servers is accessed by numerous data centers and remote sites

* The servers are accessed via a cluster of firewalls

* The firewalls are configured properly and are not dropping traffic

* The firewalls occasionally cause asymmetric routing of traffic within the server data center.

Which technology should you recommend to enhance security by limiting traffic that could originate from a hacker compromising a workstation and redirecting
flows at the servers?

A. Poison certain subnets by adding static routes to NullO on the core switches connected to the pool of servers.
B. Deploy uRPF strict mode.

C. Limit sources of traffic that exit the server-facing interface of the firewall cluster with ACLs.

D. Deploy uRPF loose mode

Answer: C

NEW QUESTION 10

As part of workspace digitization, a large enterprise has migrated all their users to Desktop as a Sen/ice (DaaS), by hosting the backend system in their on-
premises data center. Some of the branches have started to experience disconnections to the DaaS at periodic intervals, however, local users in the data center
and head office do not experience this behavior. Which technology can be used to mitigate this issue?

A. tail drop

B. traffic shaping
C. WRED

D. traffic policing

Answer: B

Explanation:
Traffic Shaping does help with congestion and better bandwidth utilization over the WAN.
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NEW QUESTION 10
Which two features control multicast traffic in a VLAN environment? (Choose two)

A. IGMP snooping
B. MLD snooping
C. RGMP

D. PIM snooping
E. pruning

Answer: AB

NEW QUESTION 13
Refer to the exhibit.

Data Center Core

Layer 3

T T |

Layer 2

= Hiocked Fons | |

Your company designed a network to allow server VLANSs to span all access switches in a data center In the design, Layer 3 VLAN interfaces and HSRP are

configured on the aggregation switches Which two features improve STP stability within the network design? (Choose two.)

A. BPDU guard on access ports

B. BPDU guard on the aggregation switch downlinks toward access switches
C. root guard on the aggregation switch downlinks toward access switches

D. root guard on access ports

E. edge port on access ports

F. access switch pairs explicitly determined to be root and backup root bridges

Answer: AE

NEW QUESTION 17

Drag and drop the design characteristics from the left onto the correct network filter techniques on the right. Not all options are used.

It is usad to prevent spoofing attacks when there are alternate Ingress Access Lists
routes to a given IP address
target 1
Tt Is used to check the existence of a route without regard to the
incoming interface
Strict Reverse Path Forwarding
It is a dynamic filter targat 2
It requires manual configuration Feasbie Path R Pah F 5
target 3
It is used 35 a fitering technigue for Martizn [P addresses
Loose Reverse Path Forwarding
target 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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It is used to prevent spoofing attacks when there are altemate Ingress Access Lists

routes to a ghven [F address

It reguires manual configuration

It is used to check the existence of a route without regard to the
incoming interface

Strict Reverse Path Forwarding
It ks 3 dynamic filter It i& 3 dynamic filter
It requires manual configuration Feasible Path Reverse Path Forwarding

Tt ts used to prevent spoofing attacks when there are alternate
routes to a given [P address

It is used as a filtering technigue for Martian IP addresses

Loose Reverse Path Forwarding

It is used as 3 filtering technigue for Martian IP addresses

NEW QUESTION 18
Refer to the exhibit.

BGP Topology

P
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An engineer has been asked to redesign the traffic flow toward AS 111 coming from AS 500.Traffic destined to AS 111 network 91 7 0.0/16 should come in via AS
100. while traffic destined to all other networks in AS 111 should continue to use the existing path Which BGP attributes are best suited to control this inbound
traffic coming from BGP AS 500 Into the 91.7.0.0/16 network?

A. Prepend AS path for the 91.7.0.0/16 network and set it for neighbor in AS 200.

B. Use extended community for the 91.7.0.0/16 network, not advertising it to the bi-lateral peer.

C. Use local preference on R1 for the networks that AS 500 advertises to AS 111.

D. Set higher MED for neighbor in AS 100 to influence incoming traffic for the 91. 7.0.0/16 network.

Answer: A

NEW QUESTION 23

A customer asks you to perform a high level review of their upcoming WAN refresh for remote sites The review is specially focused on their retail store operations
consisting of 500+ locations connected via mutlipoint IPsec VPN solution. Which routing protocol would be valid but would also be the most restrictive for the
expansion of this deployment model?

A. EIGRP
B. IS-IS

C. OSPF
D. BGP
Answer: B

NEW QUESTION 24
Refer to the exhibit.
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The network 10.10.0 .0/16 has been redistributed to OSPF processes and the best path to the destination from R1 has been chosen as R1-R2-R3 A failure
occurred on the link between R2 and R3 and the path was changed to R1-R4-R5-R3 What happens when the link between R2 and R3 is restored'?

A. The path R1-R4-R5-R3 continues to be the best path because the metric is better

B. The path reverts back to R1-R2-R3 because the route type is E1

C. The path R1-R4-R5-R3 continues to be the best path because OSPF does not compare the metrics between two domains
D. The path reverts to R1-R2-R3 because this was the previous best path

Answer: D

Explanation:

When the link between R2 and R3 is restored, the path reverts back to R1-R2-R3 because this was the previous best path. This is because OSPF uses the
Dijkstra algorithm to calculate the shortest path tree (SPT) and the path with the lowest cost is chosen as the best path. In this case, the cost of the path R1-R2-R3
is lower than the cost of the path R1-R4-R5-R3, so the path R1-R2-R3 is chosen as the best path. OSPF also has a preference order for different types of routes,
such as intra-area, inter-area, external type 1, external type 2, NSSA type 1, and NSSA type 2. However, this preference order only applies when OSPF has to
choose between routes of different types to the same destination. In this scenario, both paths are external type 2 routes so the preference order does not affect the
path selection

NEW QUESTION 27
Which two protocols are used bv SDN controllers to communicate with switches and routers? (Choose two )

A. OpenFlash

B. OpenFlow

C. NetFlash

D. Open vSwitch Database
E. NetFlow

Answer: BD

NEW QUESTION 31
Company XYZ is designing the 1S-IS deployment strategy for their multiarea IS-1S domain. They want IS-IS neighbour relationships to be minimized on each
network segment and want to optimize the size of the IS-IS LSDB on each router. Which can design can be used to meet these requirements?

A. Design all routers as Level 2 router

B. Set the links between the routers as Level 1 with the area

C. Design the network so that the routers connecting to other areas are Level 2 routers and internal routers are Level 1

D. Design the network so that all routers are Level 1 routers

E. Design the network so that the routers connecting to other areas are Level 1/Level 2 routers and internal routers are Level 1

Answer: D

NEW QUESTION 35

An enterprise organization currently provides WAN connectivity to their branch sites using MPLS technology, and the enterprise network team is considering rolling
out SD-WAN services for all sites.

With regards to the deployment planning, drag and drop the actions from the left onto the corresponding steps on the right.
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Select deployment models between virtual server software and

hardware-based SD-WAN appliances. i

Conduct a pilot test to observe and record unexpected issues. step 2

Make an assessment of running protocols and application usage step 3

in the network. -

Evaluate existing circuits and performance to get details of —

connectivity cost and reliability.

| ayout transport plan based on business prioritizes traffic and the step 5
unique bandwidth requirements of each specific application.

Understand the traffic monitoring requirements and capabilities. step 6

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Table Description automatically generated with medium confidence

NEW QUESTION 39

Company XYZ is revisiting the security design for their data center because they now have a requirement to control traffic within a subnet and implement deep
packet inspection Which technology meets the updated requirements and can be incorporated into the design?

A. routed firewall

B. VLAN ACLs on the switch

C. transparent firewall

D. zone-based firewall on the Layer 3 device

Answer: C

NEW QUESTION 40

You have been asked to design a high-density wireless network for a university campus. Which two principles would you apply in order to maximize the wireless

network capacity? (Choose two.)

A. Implement a four-channel design on 2.4 GHz to increase the number of available channels
B. Choose a high minimum data rate to reduce the duty cycle.
C. increases the number of SSIDs to load-balance the client traffic.

D. Make use of the 5-GHz band to reduce the spectrum utilization on 2.4 GHz when dual-band clients are used.
E. Enable 802.11n channel bonding on both 2.4 GHz and 5 GHz to increase the maximum aggregated cell throughput.

Answer: BD

NEW QUESTION 43

Which two actions ensure voice quality in a branch location with a low-speed, high-latency WAN connection? (Choose two.)

A. Increase WAN bandwidth

B. Increase memory branch switch.

C. Fragment data packets.

D. Replace any electrical links with optical links
E. Prioritize voice packets

Answer: CE

NEW QUESTION 45

Company XYZ is running SNMPv1 in their network and understands that it has some flaws. They want to change the security design to implement SNMPv3 in the

network Which network threat is SNMPv3 effective against?
A. man-in-the-middle attack

B. masquerade threats

C. DDoS attack

D. brute force dictionary attack

Answer: D
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NEW QUESTION 48
In an OSPF network with routers connected together with Ethernet cabling, which topology typically takes the longest to converge?

A. partial mesh
B. full mesh
C.ring

D. squared

E. triangulated

Answer: B

NEW QUESTION 49

A network design includes a long signaling delay in notifying the Layer 3 control plane that an interface has failed Which two of these actions would reduce that
delay? (Choose two.)

A. Increase network stability.

B. Reduce the time for the network to reconverge.

C. Increase the notification of interface flaps.

D. Enable lower data link layer recovery systems to have an opportunity to restore the interface

Answer: BD

NEW QUESTION 52
A service provider recently migrated to an SD-WAN solution for delivering WAN connections to its customers. One of the main challenges with the SD-WAN
deployment is that branch site volume increases every year, which causes management complexity. Which action resolves the issue?

A. Implement a scalable network management system to manage all sites.
B. Adopt a well-structured SD-WAN service management lifecycle model
C. Build a service orchestration platform on top of the network controller
D. Set up a dedicated team to monitor and provision new customers

Answer: C

NEW QUESTION 57
Which two data plane hardening techniques are true? (Choose two)

A. warning banners

B. redundant AAA servers

C. Control Plane Policing

D. SNMPv3

E. infrastructure ACLs

F. disable unused services

G. routing protocol authentication

Answer: EF

NEW QUESTION 60
Refer to the table.

CONNECTIVITY |CAPEX [OPEX INSTALLATION |TERM
ANNUAL  [FEE

DWDM over dark  [5250,000 [5100,000  [$30,00¢ 12 months

fiber

CWDM over dark  [5150,000 [§100,.000  [525,00C 18 months

NDer

MPLS wires only  [550.000 [$80.000 55,000 74 months

'.l b ﬁ ‘."_ - '__'_".""" - "C-_::"-;‘_ T I:‘.'_" _'{“ ",.'_.: = e = e . "_"‘n"'

VIEITO ELnermel 242, U000 R 10U UJU o9, VUL S0 Monins

A customer investigates connectivity options for a DCI between two production data centers to aid a

large-scale migration project. The solution must provide a single 10G connection between locations and be able to run its own varying QoS profiles without service
provider interaction based on the migration stages. All connectivity methods are at 10 Gbps. Which transport technology costs the least if the connectivity is
required for just one year?

A. MPLS wires only

B. CWDM over dark fiber
C. DWDM over dark fiber
D. Metro Ethernet

Answer: A

NEW QUESTION 61

Company XYZ has 30 sites using MPLS L3 VPN and the company is now concerned about data integrity. The company wants to redesign the security aspect of
their network based on these requirements:

« Securely transfer the corporate data over the private WAN

» Use a centralized configuration model.

» Minimize overhead on the tunneled traffic.
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Which technology can be used in the new design to meet the company's requirements?

A. S-VTI

B. DMVPN
C. MGRE

D. GET VPN

Answer: D

NEW QUESTION 64

An IT service provider is upgrading network infrastructure to comply with PCI security standards. The network team finds that 802.1X and VPN authentication
based on locally-significant certificates are not available on some legacy phones.

Which workaround solution meets the requirement?

A. Replace legacy phones with new phones because the legacy phones will lose trust if the certificate is renewed.
B. Enable phone VPN authentication based on end-user username and password.

C. Temporarily allow fallback to TLS 1.0 when using certificates and then upgrade the software on legacy phones.
D. Use authentication-based clear text password with no EAP-MD5 on the legacy phones.

Answer: B

NEW QUESTION 66
Which SDN architecture component is used by the application layer to communicate with the control plane layer to provide instructions about the resources
required by applications?

A. southbound APIs
B. northbound APIs
C. orchestration layer
D. SDN controller

Answer: B

NEW QUESTION 67

A multinational enterprise integrates a cloud solution with these objectives

 Achieve seamless connectivity across different countries and regions

» Extend data center and private clouds into public clouds and provider-hosted clouds

What are two outcomes of deploying data centers and fabrics that interconnect different cloud networks? (Choose two.)

A. enhanced security

B. data and network ownership

C. ability to place workloads across clouds

D. centralized visibility

E. unidirectional workload mobility across the cloud

Answer: AC

NEW QUESTION 72
Which two pain points are the most common for container technology adoption? (Choose two)

A. Performance

B. Security

C. Cost

D. Container deployment
E. Skilled staff

F. Compliance

Answer: DE

NEW QUESTION 76
Drag and drop the characteristics from the left onto the corresponding network management options on the right.
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hrotocol based on HTTP for configuring data defined in YANG and
supports operations such as GET, PUT, POST, PATCH, and NETCONF
DELETE

provides mechanisms to install, manipulate, and delete the
configuration of network devices; uses XML for data encoding RESTCONF
and the operation is realized as RPC

application program interface that uses

HTTP requests to GET, PUT, POST, and DELETE data ANSIBLE
open-source software provisioning, configuration management, YANG
and application-deployment tool
data modeling language used to model configuration data, state
data, remote procedure calls, and notifications for network REST API

management protocols

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Text Description automatically generated

NEW QUESTION 78
Which two features describe controller-based networking solutions compared to traditional networking solutions? (Choose two.)

A. inflate licensing costs

B. reduce network configuration complexity

C. provide centralization of primary IT functions
D. allow for fewer network failures

E. increase network bandwidth usage

Answer: BC

NEW QUESTION 80
You are designing a network for a branch office. In order to improve convergence time, you are required to use the BFD feature Which four routing protocols can
you use to facilitate this? (Choose four.)

A. IS-IS
B. static
C.RIP

D. EIGRP
E. BGP

Answer: ABDE

NEW QUESTION 84
Company ABC uses IPv4-only. Recently they started deploying new endpoint devices. For operational reasons, IPv6 cannot be disabled on these new endpoint
devices. Which security measure prevents the new endpoint from learning an IPv6 prefix from an attacker?

A. Source Guard and Prefix Guard
B. Router Advertisement Guard

C. Prefix Guard

D. Secure Neighbor Discovery

Answer: B

NEW QUESTION 89

A product manufacturing organization is integrating cloud services into their IT solution The IT team is working on the preparation phase of the implementation
approach, which includes the Define Strategy step. This step defines the scope of IT, the application, and the service What is one topic that should be considered
in the Define Strategy step?

A. financial and governance models

B. innovate and align with business according to volume
C. due diligence and financial scenarios

D. contingency exit strategy steps
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Answer: D

NEW QUESTION 90
Which feature is supported by NETCONF but is not supported by SNMP?

A. distinguishing between configuration data and operational data
B. taking administrative actions

C. collecting the status of specific fields

D. changing the configuration of specific fields

Answer: A

NEW QUESTION 93
A company plans to use BFD between its routers to detect a connectivity problem inside the switched network. An IPS is transparently installed between the
switches. Which packets shold the IPS forward for BFD to work under all circumstances?

A. Fragmented packet with the do-not-fragment bit set

B. IP packets with broadcast IP source addresses

C. IP packets with the multicast IP source address

D. IP packet with the multicast IP destination address

E. IP packets with identical source and destination IP addresses
F. IP packets with the destination IP address 0.0.0.0.

Answer: E

NEW QUESTION 98
A European national bank considers migrating its on-premises systems to a private cloud offering in a non-European location to significantly reduce IT costs. What
is a primary factor prior to migration?

A. data governance

B. additional latency
C. security

D. cloud connectivity

Answer: C

NEW QUESTION 103
You are designing a large-scale DMVPN network with more than 500 spokes using EIGRP as the IGP protocol Which design option eliminates potential tunnel
down events on the spoke routers due to the holding time expiration?

A. Increase the hold queue on the physical interface of the hub router.

B. Increase the hold queue on the tunnel interface of the spoke routers
C. Increase the hold queue on the tunnel interface of the hub router

D. Apply QoS for pak_priority class

E. Increase the hold queue on the physical interface of the spoke routers.

Answer: C

NEW QUESTION 107
Which component of the SDN architecture automatically ensures that application traffic is routed according to policies established by network administrators?

A. packet forwarding engine
B. northbound API

C. southbound API

D. SDN controller

Answer: D

NEW QUESTION 108

Your network operations team is deploying Access Control Lists (ACLs) across your Internet gateways They wish to place an ACL inbound on the Internet gateway
interface facing the core network (the "trusted" interface). Which IP address would the ACL need for traffic sourced from the inside interface, to match the source
address of the traffic?

A. inside global
B. outside global
C. inside local
D. outside local

Answer: C

NEW QUESTION 110
Company XYZ wants to secure the data plane of their network. Which two technologies can be included in the security design? (Choose two)

A. DAI
B. IP Source Guard
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C. BEEP
D. CPPr
E. MPP

Answer: AB

NEW QUESTION 115
Refer to the exhibit.

Multicast source

= | Multicast destination

As part of a redesign project, you must predict multicast behavior What happens to the multicast traffic received on the shared tree (*,G), if it is received on the
LHR interface indicated*?

A. Itis dropped due to an unsuccessful RPF check against the multicast source
B. It is switched give that no RPF check is performed

C. It is switched due to a successful RPF check against the routing table

D. It is dropped due to an unsuccessful RPk8t8ck against the multicast receiver.

Answer: A

Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/ip-multicast/16450-mcastguide0.html

When a multicast packet arrives on an interface, the RPF process checks to ensure that this incoming interface is the outgoing interface used by unicast routing in
order to reach the source of the multicast packet. This RPF check process prevents loops. Multicast routing does not forward a packet unless the source of the
packet passes a RPF check. Once a packet passes this RPF check, multicast routing forwards the packet based only upon the destination address.

NEW QUESTION 119
Which two benefits can software defined networks provide to businesses? (Choose two.)

. provides additional redundancy
. decentralized management

. reduced latency

. enables innovation

. reduction of OpEx/CapEx

. meets high traffic demands

mTmoOw>

Answer: DE

NEW QUESTION 124
Which two characteristics apply to firewall transparent mode operations in a firewall solution design? (Choose two.)

A. Changes in the existing IP addressing and subnets are required
B. The firewall can participate actively on spanning tree.

C. Multicast traffic can traverse the firewall.

D. OSPF adjacencies can be established through the firewall

E. The firewall acts like a router hop in the network.

Answer: CD
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NEW QUESTION 126
Which main loT migration aspect should be reviewed for a manufacturing plant?

A. Sensors

B. Security

C. Applications

D. Wi-Fi Infrastructure
E. Ethernet Switches

Answer: A

NEW QUESTION 131
What are two advantages of controller-based networks versus traditional networks? (Choose two.)

A. the ability to have forwarding tables at each device

B. more flexible configuration per device

C. more consistent device configuration

D. programmatic APIs that are available per device

E. the ability to configure the features for the network rather than per device

Answer: CE

NEW QUESTION 132

The Agile Manifesto is a document that defines the key values and principles behind the Agile philosophy and helps development teams work more efficiently and
sustainably Each of the four key values is split into two sections a left-hand side and a right-hand side In other words, though there is value in the items on the right
we value the items on the left more What is one of the key values of the Agile Manifesto?

A. comprehensive documentation over working software
B. contract negotiation over customer collaboration

C. individuals and interactions over processes and tools
D. following a plan over responding to change

Answer: C

NEW QUESTION 135
An architect receives a functional requirement for a NAC system from a customer security policy stating that if a corporate Wi-Fi device does not meet current AV
definitions, then it cannot access the corporate network until the definitions are updated. Which component should be built into the NAC design?

A. posture assessment with remediation VLAN
B. quarantine SGTs
C. dACLs with SGTs
D. quarantine VLAN

Answer: A

NEW QUESTION 138
Which two features are advantages of SD-WAN compared to MPLS-based connectivity? (Choose two.)

A. uses FEC constructs for traffic forwarding, thereby improving efficiency
B. separates infrastructure and policy

C. uses policy-based forwarding of real-time traffic with less complexity
D. unifies the WAN backbone

E. manages failures through backup links

Answer: CD

NEW QUESTION 141
The SD-WAN architecture is composed of separate orchestration management, control, and data planes Which activity happens at the orchestration plane?

A. automatic onboarding of the SD-WAN routers into the SD-WAN overlay
B. decision-making process on where traffic flows

C. packet forwarding

D. central configuration and monitoring

Answer: D

NEW QUESTION 144

Company XYZ wants to use the FCAPS ISO standard for network management design. The focus of the design should be to monitor and keep track of any
performance issues by continuously collecting and analyzing statistical information to monitor, correct, and optimize any reduced responsiveness across the
network. Which layer accomplishes this design requirement?

A. fault management

B. accounting management
C. performance management
D. security management

Answer:
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C

NEW QUESTION 146
The Layer 3 control plane is the intelligence over the network that steers traffic toward its intended destination. Which two techniques can be used in service
provider-style networks to offer a more dynamic, flexible, controlled, and secure control plane design? (Choose two.)

A. access control lists

B. firewalls

C. QoS policy propagation with BGP
D. remote black-holing trigger

E. prefix lists

Answer: DE

NEW QUESTION 147
A customer migrates from a traditional Layer 2 data center network into a new SDN-based. spine-and-leaf VXLAN EVPN data center within the same location. The
networks are joined to enable host migration at Layer 2 Which activity should be completed each time a legacy network is migrated?

A. The migrated VLAN should be pruned from the Layer 2 interconnects.

B. The migrated network should have a VXLAN VNID configured within the new network.
C. The migrated network should be advertised to the EVPN network as a Type 2 network.
D. The migrated network should be added to the EVPN BGP routing.

Answer: C

NEW QUESTION 148
Which aspect of BGP-LS makes it scalable in large network when multiarea topology information must be gathered?

A. transmit flow control

B. open-loop flow control
C. hardware flow control
D. TCP-based flow control

Answer: A

NEW QUESTION 151
Which two factors must be considered for high availability in campus LAN designs to mitigate concerns about unavailability of network resources? (Choose two.)

A. device resiliency
B. device type

C. network type

D. network resiliency
E. network size

Answer: AD

NEW QUESTION 153

A business requirement stating that failure of WAN access for dual circuits into an MPLS provider for a Data Centre cannot happen due to related service credits
that would need to be paid has led to diversely routed circuits to different points of presence on the providers network? What should a network designer also
consider as part of the requirement?

A. Provision of an additional MPLS provider

B. Out of band access to the MPLS routers

C. Ensuring all related remote branches are dual homed to the MPLS network
D. Dual PSUs & Supervisors on each MPLS router

Answer: A

NEW QUESTION 154
Company XYZ has a multicast domain that spans across multiple autonomous systems. The company wants to choose a technology that provides simplified and
controlled approach to interconnecting the multicast domains. Which technology is the best fit for this purpose?

A. MSDP

B. PIM SSM

C. MPLS

D. PIM sparse mode

Answer: A

NEW QUESTION 156

In the case of outsourced IT services, the RTO is defined within the SLA. Which two support terms are often included in the SLA by IT and other service providers?
(Choose two.)

A. network size and cost

B. support availability
C. network sustainability
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D. network reliability
E. resolution time

Answer: BE

NEW QUESTION 161
Which mechanism provides Layer 2 fault isolation between data centers?

A. fabric path

B. OTL

C. advanced VPLS
D. LISP

E. TRILL

Answer: D

NEW QUESTION 163
What are two common approaches to analyzing and designing networks? (Choose two.)

A. bottom-up approach

B. high-low security approach
C. top-down approach

D. left-right approach

E. three-tier approach

Answer: AC

NEW QUESTION 164
A business customer deploys workloads in the public cloud. Now the customer network faces governance issues with the flow of IT traffic and must ensure the
security of data and intellectual property. Which action helps to identify the issue for further resolution?

A. Set up a secure tunnel from customer routers to ensure that traffic is protected as it travels to the cloud service providers.
B. Send IPFIX telemetry data from customer routers to a centralized collector to identify traffic to cloud service providers

C. Build a zone-based firewall policy on Internet edge firewalls that collects statistics on traffic sent to cloud service providers
D. Apply workload policies that dictate the security requirements to the workloads that are placed in the cloud.

Answer: B

NEW QUESTION 166
Hybrid cloud computing allows organizations to like advantage of public and private cloud models Which best practice should organizations follow to ensure data
security in the private cloud?

A. Use standard protocols for data transmission over the network.

B. Encrypt data when it is at rest and in motion

C. Communicate all data security risks to customers and end users.

D. Use standard network protocols for data communication between unsecured network connections.

Answer: B

NEW QUESTION 168

Agile and Waterfall are two popular methods for organizing projects. What describes any Agile network design development process?
A. working design over comprehensive documentation

B. contract negotiation over customer collaboration

C. following a plan over responding to change

D. processes and tools over individuals and interactions over time

Answer: A

NEW QUESTION 172
Refer to the exhibit.
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There are multiple trees in the Cisco FabricPath All switches in the Layer 2 fabric share the same view of each tree. Which two concepts describe how the

multicast traffic is load-balanced across this topology? (Choose two )

A. A specific (S.G) traffic is not load-balanced

B. All trees are utilized at the same level of the traffic rate

C. Every leaf node assigns the specific (S.G) to the same tree.

D. A specific (S.G) multicast traffic is load-balanced across all trees due to better link utilization efficiency.
E. The multicast traffic is generally load-balanced across all trees

Answer: BD

NEW QUESTION 175

A business wants to refresh its legacy Frame Relay WAN. It currently has product specialists in each of its 200 branches but plans to reduce and consolidate
resources. The goal is to have product specialists available via video link when customers visit the nationwide branch offices. Which technology should be used to

meet this objective?

A. DMVPN phase 1 network over the Internet
B. Layer 3 MPLS VPN hub and spoke

C. Layer2VPLS

D. Layer 3 MPLS VPN full mesh

Answer: D

NEW QUESTION 180

Which technology is an open-source infrastructure automation tool that automates repetitive tasks for users who work in networks such as cloud provisioning and

intraservice orchestration?
A. Ansible

B. Contrail

C. Java

D. Jinja2

Answer: A

NEW QUESTION 181
Refer to the exhibit.
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For Company XYZ Bangkok is using ECMP to reach the 172 20 2 0/24 network The company wants a design that would allow them to forward traffic from 172 16
2 0/24 toward 172 20 2 0/24 via the Singapore router as the preferred route The rest of the traffic should continue to use ECMP Which technology fulfills this

design requirement?

A. policy-based routing

B. route summarization

C. unequal-cost load balancing using variance
D. LFA

Answer: A

NEW QUESTION 186

What is an architectural framework created by ETSI that defines standards to decouple network functions from proprietary hardware-based appliances and have

them run in software on standard x86 servers?

A. NPIV
B. NFVIS
C. NFV
D. VNF

Answer: C

NEW QUESTION 190
What are two key design principles when using a hierarchical core-distribution-access network model? (Choose two )

A. A hierarchical network design model aids fault isolation

B. The core layer is designed first, followed by the distribution layer and then the access layer
C. The core layer provides server access in a small campus.

D. A hierarchical network design facilitates changes

E. The core layer controls access to resources for security

Answer: AD

NEW QUESTION 195
Which two aspects are considered when designing a dual hub dual DMVPN cloud topology? (Choose two )

A. will only work with single-tier headend architecture

B. hub sites must connect to both DMVPN clouds

C. recommended for high availability

D. spoke-to-spoke traffic will transit the hub unless spokes exchange dynamic routing directly
E. requires all sites to have dual Internet connections

Answer: AC
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NEW QUESTION 198
What advantage of placing the IS-IS layer 2 flooding domain boundary at the core Layer in a three-layer hierarchical network is true?

A. The Layer 1 and Layer 2 domains can easily overlap
B. It reduces the complexity of the Layer 1 domains

C. It can be applied to any kind of topology

D. The Layer 2 domain is contained and more stable

Answer: D

NEW QUESTION 202
Your company wants to deploy a new data center infrastructure Based on the requirements you have chosen VXLAN as encapsulation technology The customer is
concerned about miss-configuration of Layer 2 devices and DC wide outages caused by Layer 2 loops What do you answer?

A. VXLAN offers native loop avoidance mechanism

B. Storm Control should be enabled on all ports

C. VPC+ could prevent L2 loop on access ports

D. BPDU Guard should be enabled on all VTEP access ports

Answer: D

NEW QUESTION 207
Which effect of using ingress filtering to prevent spoofed addresses on a network design is true?

A. It reduces the effectiveness of DDoS attacks when associated with DSCP remarking to Scavenger.
B. It protects the network Infrastructure against spoofed DDoS attacks.

C. It Classifies bogon traffic and remarks it with DSCP bulk.

D. It filters RFC 1918 IP addresses.

Answer: B

NEW QUESTION 208
Company XYZ has a new network based on IPv6. Some of the subnets that they are planning to use will be confidential and need an addressing scheme that
confines them to the local campus network. Which type of IPv6 addresses can be used for these networks in the IPv6 addressing design?

A. local addresses

B. private addresses

C. link-local addresses

D. unique local addresses

Answer: D

NEW QUESTION 212
A banking customer determines that it is operating POS and POI terminals that are noncompliant with PCI DSS requirements, as it is running TLSv1.0. The
customer plans to migrate the terminals to TLSv1.2. What are two requirements to complete the migration? (Choose two.)

A. Ensure that strong cryptography is applied for users who have administrative access through networks
B. Apply strong cryptography and security protocols to safeguard sensitive cardholder data.

C. Apply strong encryption for transmission of cardholder data across public networks.

D. Protect all user systems against malware and frequently update antivirus software

E. Maintain a policy that addresses information security for employees and third parties.

Answer: CE

NEW QUESTION 213
Which mechanism enables small, unmanaged switches to plug into ports of access switches without risking switch loops?

A. PortFast

B. UDLD

C. Root guard

D. BPDU guard

Answer: D

NEW QUESTION 218

Which solution component helps to achieve rapid migration to the cloud for SaaS and public cloud leveraging SD-WAN capabilities?
A. service-oriented cloud architecture

B. Cloud onramp

C. cloud registry

D. microservices in the cloud

Answer: B

NEW QUESTION 219
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How many fully established neighbour relationships exist on an Ethernet with five routers running OSPF as network type broadcast?

0
0

moow2
N B~ O O

Answer: C

Explanation:

Assuming routers R1-R5, R1 is elected DR, R2 BDR. Fully established neighborships only occur to DR and BDR, all other neighbors are in 2Way DR other state.
DR|BDRFull relationships:

R2-R1 R3-R1 R3-R2 R4-R1 R4-R2 R5-R1 R5-R2

NEW QUESTION 222
What is a description of a control plane action?

A. de-encapsulating and re-encapsulating a packet in a data-link frame

B. matching the destination MAC address of an Ethernet frame to the MAC address table

C. matching the destination IP address of an IP packet to the IP routing table

D. hosts locating routers that reside on attached links using the IPv6 Neighbor Discover Protocol

Answer: D

NEW QUESTION 227
An enterprise wants to provide low-cost delivery of network systems that can be scaled on business demand, followed by an initiative to reduce capital expenses
for new IT equipment. Which technology meets these goals'?

A. laaS within a private cloud

B. laaS within an on-premises location
C. PaaS within a public cloud

D. SaaS within an on-premises location

Answer: C

NEW QUESTION 229
SD-WAN can be used to provide secure connectivity to remote offices, branch offices, campus networks, data centers, and the cloud over any type of IP-based
underlay transport network. Which two statements describe SD WAN solutions? (Choose two.)

A. SD-WAN networks are inherently protected against slow performance.

B. Control and data forwarding planes are kept separate.

C. Improved operational efficiencies result In cost savings.

D. Solutions include centralized orchestration, control, and zero-touch provisioning.
E. Solutions allow for variations of commodity and specialized switching hardware.

Answer: BD

NEW QUESTION 233
Refer to the exhibit.

OSPf [ ) OSPF oy
ot Lo

Area 0

A customer runs OSPF with Area 5 between its aggregation router and an internal router When a network change occurs in the backbone. Area 5 starts having
connectivity issues due to the SPF algorithm recalculating an abnormal number of times in Area 5 You are tasked to redesign this network to increase resiliency on
the customer network with the caveat that Router B does not support the stub area How can you accomplish this task*?

A. Increase the bandwidth on the connection between Router A and Router B

B. Implement LSA filtering ontheAB, allowing summary routes and preventing more specific routes into Area 5
C. Create a virtual link to Area 0 from Router B to the ABR

D. Turn on LSA throttling on all devices in Area 5

E. Set Area 5 to stubby at the ABR anyway

Answer: B

NEW QUESTION 234
Refer to the exhibit.
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OSPF is running as the IGP to provide reachability to all AS100 networks R3 and R4 are the current ABRs at the boundary of OSPF Area0O and Areal Now BGP
must be deployed within AS 100 because it will be receiving Internet routes from its eBGP peers (the service provider) connected to R1 and R2 What is an optimal
solution for this deployment to configure BGP relationships and redistribute BGP learned routes into OSPF?

A. R5 should be configured as a route reflector for R1, R2, R3 and R4. BGP routes must be redistributed at R1 and R2 into OSPF.
B. Configuration should be set up with R1 and R2, and R3 in one sub AS, with and R4 in another, and redistribution at R1 and R2.
C. A full mesh should be deployed between all the routers with mutual redistribution to take place at R1 and R2.

D. R1, R2, R3 and R4 must be set up with a neighbor relationship with R5 only must not be a route reflector.

Answer: C

NEW QUESTION 235

An MPLS service provider is offering a standard EOMPLS-based VPLS service to Customer A. providing Layer 2 connectivity between a central site and
approximately 100 remote sites. Customer A wants to use the VPLS network to carry its internal multicast video feeds which are sourced at the central site and
consist of 20 groups at Mbps each. Which service provider recommendation offers the most scalability?

A. EoMPLS-based VPLS can carry multicast traffic in a scalable manner

B. Use a mesh of GRE tunnels to carry the streams between sites

C. Enable snooping mechanisms on the provider PE routers.

D. Replace VPLS with a Layer 3 MVPN solution to carry the streams between sites

Answer: D

NEW QUESTION 239
If the desire is to connect virtual network functions together to accommodate different types of network service connectivity what must be deployed?

A. bridging

B. service chaining
C. linking

D. daisy chaining
E. switching

Answer: B

Explanation:

Service chaining is the technique of connecting virtual network functions together to provide different types of network service connectivity. Service chaining uses
software-defined networking (SDN) programmability to create a chain of connected network services, such as firewalls, load balancers, NAT, and intrusion
protection. Service chaining can automate the provisioning of network applications that have different characteristics and requirements, such as security, latency,
or quality of service (Qo0S). Service chaining can also optimize the use of network resources and improve application performance by using SDN analytics and
performance tools to select the best available network paths and avoid network congestion. Service chaining is being used in many SDN and network functions
virtualization (NFV) use cases and deployments, such as data centers, carrier networks, and virtual customer edgel123. References:

> 1: What is Network Service Chaining or Service Function Chaining - SDxCentral
> 2: On service chaining using Virtual Network Functions in Network-enabled Cloud systems | IEEE Conference Publication | IEEE Xplore
> 3: Service function chaining - Gini5

NEW QUESTION 240
How must the queue sizes be designed to ensure that an application functions correctly?

A. Each individual device queuing delay in the chain must be less than or equal to the application required delay.

B. The queuing delay on every device in the chain must be exactly the same to the application required delay.

C. The default queue sizes are good for any deployment as it compensates the serialization delay.

D. The sum of the queuing delay of all devices plus serialization delay in the chain must be less than or equal to the application required delay.

Answer: D

NEW QUESTION 244

Company XYZ is migrating their existing network to IPv6 and they must plan for Layer 2 and Layer 3 devices Some of the access layer switches do not support
IPv6, however, core and distribution switches fully support unicast and multicast routing. The company wants to minimize cost of the migration. Which migration

strategy should be used in the design?

A. The access layer switches must support IGMP snooping at a minimu
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B. Any switches that do not support IGM snooping must be replaced.

C. Upgrade the nonsupporting switches Otherwise, it will cause an issue with the migration.

D. Layer 2 switches will not affect the implementation of IPv6. They can be included in the design in their current state.
E. The access layer switches must support DHCPv6. Any switches that do not support DHCPv6 must be replaced.

Answer: C

NEW QUESTION 245

Which development model is closely associated with traditional project management?
A. static model

B. Agile model

C. evolutionary delivery model

D. lifecycle model

Answer: D

NEW QUESTION 250
Refer to the table.

CONNECTIVITY CAPEX [OPEX INSTALLATION FEE [TERM
ANNUA
DWDM over dark fiber 1$250.000 [§100,000 530 00C 50 months
CWDM over dark fiber 5150 000 $100.000 1525 000 50 months i
IPLS $50.000 [$150.000 1§75.000 12 months
MetroEthemet ~~ [$45,000 (5125000 85000 [36months |

A customer investigates connectivity options for a DCI between two production data centers. The solution must provide dual 10G connections between locations
with no single points of failure for Day 1 operations. It must also include an option to scale for up to 20 resilient connections in the second year to accommodate
isolated SAN over IP and isolated, dedicated replication IP circuits. All connectivity methods are duplex 10 Gbps. Which transport technology costs the least over
two years, in the scenario?

A. Metro Ethernet
B. DWDM

C. CWDM

D. MPLS

Answer: B

NEW QUESTION 253
A small organization of 20 employees is looking to deliver a network design service for modernizing customer networks to support advanced solutions.

> Project scope and weekly progress should be visualized by the management.
> Always consider feedback and make changes accordingly during the project.

> Should consider flexibility to change scope at the point of time.
Which project methodology meets the requirements and have the least impact on the outcome?

A. Scrum

B. LEAN

C. Kanban
D. Six-Sigma

Answer: A

Explanation:
https://firebrand.training/uk/blog/scrum-vs-six-sigma-which-one-is-right-for-you

NEW QUESTION 257
The Company XYZ network is experiencing attacks against their router. Which type of Control Plane Protection must be used on the router to protect all control
plane IP traffic that is destined directly for one of the router interfaces?

A. Control Plane Protection host subinterface

B. Control Plane Protection main interface

C. Control Plane Protection transit subinterface

D. Control Plane Protection CEF-exception subinterface

Answer: A

NEW QUESTION 258

The General Bank of Greece plans to upgrade its legacy end-of-life WAN network with a new flexible, manageable, and scalable solution. The mam requirements
are ZTP support, end-to-end encryption application awareness and segmentation. The CTO states that the main goal of the bank is CAPEX reduction. Which WAN
technology should be used for the solution?

A. SD-branch

B. DMVPN with PfR
C. managed SD-WAN
D. SD-WAN
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Answer: C

NEW QUESTION 260
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